T Mla, 0 T, & Tento_ Teglr =
g 4 {- o Il‘(:g;..f" %)
hegrage fm

Find n 4t i (ﬂr) f(i;r)
f" (g_r) z[’(fV)I< f?—,(i)l
O

/E‘(i"’ /
4%

2'4) - _’tb‘(_ﬂ -F (5)
(1)

Jed mz<J~_ﬂf;ﬂ_

Thn:



I‘J'”J" fn#»?. €rror Can#gf,lv—l LEE

B..—-.-L-_J Geom. :’M’:fft‘, 7{ Gﬂ)./

f,(‘) &6 T
E(t)
b fe=
iz ;'. %y % X KXoy )
A (&)
'n




Sule £(x) ) 2 ;}‘ Sealed (13

Foss (x) @rrorg
Seale i(_”_ 4(#]:-5?" - ECH
EE) flm(“" ?,,,“’)
AN B OF 200 T )
7 Fnrth)
G

(ﬂﬂ)Ju{v f 5() ?nuc) ﬂm"'
-}¢fuﬂ)(-) Q"’[

Mofe: G(g) E(x) ﬁ‘l E&)
%l Ct)

7=0,lm,n

I/




